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. ween an
1. (a) Give threc differences petweeh

(b)

(2)

2
y two of the following

i 0
(i) Right issuc and ponus 15SUC f shares.

(ii) Interim dividend and final dividend.

(iii) Redemption of preference share and buy back of shares. (3+3)

B Ltd. invited applications for 1,00,000 equity shares of 10 each issued at
a premium of ¥4 per share. The amount was payablc as follows :

- On application: %6 including premium of ¥2

On allotment : ¥6 including premium of 32

Balance : on first and final call

Applications for 1,50,000 shares were received. Allotment was made on
prorata basis to all the applicants. Ganesh to whom 200 shares were allotted
failed to pay the allotment and call money. Shiva who applied for 150 shares
failed to pay the first call money. The unpaid shares were forfeited and out
of these 120 shares were reissued at 8 as fully paid up including all the
shares of Shiva.

Pass the necessary journal entries. Please show the working notes

clearly. % . ' (12)

OR

Calculate minimum fresh issue of equity shares required for redemption of
preferences shares on the basis of folldwing information :-

(i) 15,000 preferences shares of 210 each to be redeemed at 10% premium
(i) Balance in surplus account ¥60,000
(iif) Balance in securities prémium reserve account 38, 000
(iv) Fresh issue of equity shares of 210 each is to be made at 10% premium.

What will be you new answer if preferences shares are to be redeemed at
20% premium? (4+2)



2.

Premium on redemption of debentures

d was %4,00, 000 on 3

Annual contribution to sinking fun
debentures fr

The company had the right to purchase its own

- 1% January 2023 the company purchased its own
for immediate cancellatio

100 each at ?98 cum 1nterest
1st March. 2023. Interest O

debentures were redeemed on.3
able on 3
3 at a profit of £1,000 o
Smklng Fund, S

interest on Govt. loan were pay 1st March each €

were sold on 31st March 202

'ledger accounts for the company of 10% Debentures..:
Fund Investments assuming company had enough cash

(a) Write three differences between :

(i) AS-14 for Amalgamation of companies and IND AS 103 for B
_ combinations- ‘ L :

(ii) Amalgamation in the nature of merger .and amalgamation in th

of'purchase.

g is the balance sheet of Beta Ltd as at 31.03.2023

(b) The follow1n

of BLtdon 1 April

3842 . 3
(b) The following balancec were cxtracted fr the book®
2022.
10% Debentures ?40,00,000
Sinking Fund 234,00,000
Sinking Fund Investment ?34,00,000
(Represented by 8% Govt. Loan of 134”00’000)
?2,00,000 .

st March 2023.
om market On
500, 10% debentures of
n. The remaining
n debentures and
ar. The investments

n cost. Prepare the

inking
(12)

usiness

e naturc

(3+3)

P.T.O.
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e 4

. / Note <

Particulars ' Number

AB“_,]TIES:

1. EQUITY ADLI)E/—

1. Shareholders' Funds: 1 24,00 00(; |
Share Capital ' ative Balance 2 (7,00,000
Reserves & S“‘plus:.surplus (:T:r%n Borrowings)» 4, 50, 000

2. Non-current Liabilitics: Long

3. Current Liabilities: ditois) 1,50,000
Trade Payables (Trade Cred 00 ) 1,00,000

 Short-term Borrowings (Bank Overdratt) -y T —

A : ' TOTAL 24,00,00»0

IL ASSETS: | '

: ' 14,00,000
1: Non-current Assets: 3
Fixed Assets: Tangible - 90,000
Intangible (Goodwill) 80,000
Investments
: 420,000 .

Current Assets: 3,60,000

Trade Receivables (Sundry Debtors) 50.000

Inventories : et

Cash and Cash Equivalents (Bank) 24,00,000

- - TOTAL

" Note to Account . |
Particulars _ < .
1. Share Capital:
200,000 Equity Shares of 10 each (38 called up) 116,00,000
8,000, 10% Preference Shares of 3100 each - 8,00,000
| 24,00,000
2. Long-term Borrowings: B
. 12% Debentures - 1,30,000
Unsecured Loans 3,20,000
' 4,50,000

3. Tangible Assets: T

Land and Building 8.00.000

Plant and Machinery 6,00,000

' 14,00,000
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The following scheme of reconstruction i
court :

equity shares are to be
(i) Uncalled capital is to be called up if ful and ¢4 ' :

reduced to 6 cach.

ii i s of dividend.
(i) Preference shareholders agree to forego their arrear ’

. debentures in full
(i) 12% debenture-holders accept 765,000 WOf,th 14% dgbentures 1

satisfaction of their claim.
(iv) Trade Creditors are to forego 20% of their claims.

(v) Investments are to be taken over by bank in full settlement of the bapk
~ overdraft. '

(vi) Inventories are overvalued by Z1,00,000 and machinery is to be brought
down to ¥4,00,000.

(vii) A provision for doubtful debts @ 5% is to be made against Sundry
Debtors.

(viii) Unsecured loan was satisfied by ¥2,20,000 worth 14% Debentures in
full satisfaction of their claims. :

(IX) Write off Surplus (N egatlve balance) to the extent of balance available
in Reconstruction Account after considering aforesaid points. Goodwill |
is not to be written off.

You are required to pass necessary Journal entries. Prepare Reconstruction
Alc also. (12)

OR
(@) Write notes on the‘following :

(i) Three purposes of utilization of Reconstrucnon Acc
AT
internal reconstruction. 4ntin case of
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¢ alteration oI share capital in case of interna

(ll) Three ways Y . (3+3)
reconstruction- .

| : palance sheet of Weak Ltd as at 31-3-23
(b) The following is th° ‘

X
/ .
Liabilities S 2.00,000
2,000 cquity shares of € 100 €2<h 20,000
General Reserve . 1 0(,) 000
5% debentures ,30' (’)00'
Sunda:y creditors ’ -
Total - "+ 4,00,000
Assets -
" 35,000
Goodwi '
' 5,000
Land and building . 8 |
Plant and machinery _, .
Stock , 55,000
Bebtors | - 65,000
Cash at bank - ' ' : 40,900
Total ~ 4,00,000

The business of Weak Ltd is takeover by Alpha Ltd. All the assets and
liabilities are taken over except cash. Purchase cons1derat10n 1s satisfied by
issues- of 10,000 equlty of 10 each and the balance in cash

You are further given the following mformation :
(i) The trade creditors of Weak Ltd include 320,000 due fro.m Alpha Ltd.
(i) The debtors of Weak Ltd include ?15,000 receivable from Alpha Ltd.

(iif) Weak Ltd had sold prior- to 31-3-23 goods costmg 330,000 at 340,000
to Alpha Ltd.

(iv) Weak Ltd had also purchased goods of 225,000 from Alpha Ltd.
which sells goods at 25% profit.



3842 7 e Realization Account and

repar® Weak Ltd and pass the

Calculate : i
the purchase consideratio™: HoOoKS of

Equity Shareholders Account to c10s¢ ' jpha Ltd: (12)
necessary journal entrics in the bookS of A .
3. The following are the balances of MD Ltd- Ason 31-3 2025 5
]
Debit Balances B Credit PBalances 2
S
Promises S0F Gl A 40,00,000
- : 33=00:000 Share (2P ~30,00,000
,00,000 12% Debentures v 2 62,500
Stock 7,50,000 SurplusAlc ’ 0000
Debtors 8,70,000. Bills Payable 3,70,0
Goodwill 2’50’000 Cmdito;s .5 4,00000
Bank 4,06,500 Sales o 41,50,000
Calls in Arrear ’ 75,000 General Reserve . 2’50’000
Interim Dividend ' Bad Debts Provision ' ,
Paid 3,92,500 on 1-4-2021 35.000
Purchases - 18,50,000 '
Preliminary Exps. - 50,000
Wages 9,79,800
General Expenses 68,350
Salaries 2,02,250
Bad Debs 21,100
Debenture Interest Paid 1,80,000
Total 1,24,67,500 . Total ; 1,24,67,500

Addifional Information :

(@) Sfock on 31-3-2022 was ¥9,50,000: ,'

(b) Depreciate.Plant by 15%.

(c) Write off ¥5,000 from prelirﬁinary expenses.
(d) Interest on debentures is for 6 months.

(e) Create 5% brovision for doubtful deBt‘s.

() Provide for income tax @ 50%. |

Prepare the statement of profit and loss and tﬁe'bal
company. ' - a.nce Sheet Of the
(18)

P.TO.
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OR

(a) Differentiate between €2

(b) The following are the balance sheets of Modern Ltd.:

sh flow statement and income statement.

[ [ Particains Note 310320 - 31-02%2021
. 0.
L | EQUITY AND LIABILITIES
1. Shareholders" Funds'
(a) Share Capital L 11,50,000 11,50,000
(b) Reserve and Surplus: | : ' v
(1) General Reserves - 3,00,000 3,00,000
(i) Surplus Accounts . 80,000 1,15,022
(iii) Depreciation Fund 2,00,000 2,20,0
2. Non-current Liabilities
(a) Long-term Borrowings
(8% Debentures) | 4,50,000 3,50,000
3. Current Liabilities : : s
(a) Trade Payable (Creditors) - 5,15,000 4,80,000
(b) Other Current Liabilities :
(Outstanding Expenses) - 65,000 60,000
Total 1 27,60,000 26,75,000
1I. .
ASSETS
1. Non-current Assets
(a) Property, Plant & Equipment
- (Tangible)
(i) Machinery | ~ 2,60,000 3,50,000
(ii) Land & Building  117,50,000 7,50,000
(b) Non-current Investments 5,50,000 3,70,000
2. Current Assets
(@ Inventories. . 4,10,000 5,30,000 -
((b) Trade Receivables (Debtors) 3,35,000 2,15,000
(3 ﬁh and Cash Equivalents (Bank) |~ | 450,000 4,50,000
er Current Asgets (Prepaid expenses) : » |
5,000 10,000
Total o 27,60,000 26,75,000
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The following information is also availabl®

share Capital.
i A d1v1dend of 10% is payable on E uity

tlng
e - d but old machinery cos

il) New mach urchase®

(1) ' machinery for ¥1,50,000 was P d deprematlon thereon was

%60,000 was sold for 720,000. Accumulate
330,000. | ‘

(i) ¥1,00,000, 8% Debentures were redeemed through op en market
purchase @ 296 for a debenture of ¥100. '
(iv) Investments of ?1 ,80,000 were sold at book value.
You are requlred to prepare a Cash Flow Statement for the year end 31°

March, 2021 in accordance with AS-3}(Rev1sed). .- . (12)'

4. (a) Explain the various factors which affects the valuation-of shares.  (6)

(b) The following particulars of Wipro Ltd. are available:
(i) Equity Share Capital: 1,00,000 Eqﬁity Shares of 210 each fully paid.

(i) Preference Share Capital: 10,000, 12%, Preference Shares of 100
each fully paid. ‘ .

(iii) Reserve and Stirplus : 21,50,000.
(iv) Current Liabilities: Creditors % 1,20,000; Bills Payable 260.000

(v) Post tax proﬁts earned each year by the COmpany 32,85 000 (Normal
Average).

(vi) Appropriation from profits is 10% (Transfer to General Rese )
| rve).
(vii) Assets of the company lnclude one fictitious item of 73 000

(vii) The normal rate of return in respect of the equity share of thj

~ company is ascertained at 10% (ignoring goodwill). IS type of
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Compute the value of the company’s share by :

(i) Asset backing method ”
(i) Yield method. = |

OR

(@) What are Future Maintainable Profits? Write any five adjustments required
to be done for calculating it. | (6)

(b) The assets and liabilities of LC Ltd, as on 31 March, 2022, were as follows :

Particulars : Note No. X
L EQUITY AND LIABILITIES
1. Shareholders' Funds
(a) Share Capital
(i) 10,000 Equity Shares of T 10 each ) 1,00,000
(b) Reserve and Surplus A 35,000
2. Non -Current Liabilities: ' ‘ ‘
(a) Long-term Borrowings (% Debentures) : 15,000
3. Current Liabilittes : _ _
(a) Trade Payables (Creditors) ‘ | 20,000
(b) Short term Provisions _ " A
(i) Provision for taxation (Current Tax) _ 9,000
Total ' 11,79,000
II. ASSETS
. 1. Non-current Assets
(a) Fixed Assets ‘ _ St
(i) Tangible - Land and Buildings | 84,000
" - Plant and Machinery 60,000
' .. = Fumiture and Fittings | _ 5,000
(b) Non-Current Investments: - ' )
(i) 5% Government Securities 1 20,000
2. Current Assets
(a) Inventories (Stock) _ 2,000
(b) Trade Receivables (Debtors) 6,000
: (©) Cash and Cash Equivalents (Bank) - . - 2,000
e Total | 1,79,000
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5. (a)

2020-21 =

Th it dcprcciation and taxes were
€ net profits of the company after chargi?
as follOWS :
' — 218,000;
—20 = zl b

?20,000; 2021-22 = ?19,000; | |
| yalued at 795,000, Plant

£4.000. 10% represents
d out the

On 31 March, 2022, Land and Bulldmgs were e

- 1 i t
and Machinery at 7 1,000, Furniture and Fittings : ympany Fin
. . . i the Co :
a fair commercial rate of return on investment 1% rage super

, of the ave
value of the Goodwill based on Five years’ purchase o= (12

profits.

. e ' io,
From the following information calculate Debtors turnover rati

ration and creditors turnover ratio :

stock turnover .

Partic'ulars Opening (%) Closing )
Bills Receivables 30,000 60,000
Bills Payables 60,000 30,000
Sundry Debtors 1,20,000 1,50,000
Sundry Creditors 75,000 1,05,900 -
Stock ‘in Tracie 96,000 B 1,44,000.

You are further given :

(i) Net credit Sales : ?6,00,00’0 ‘.

(i) Total Sales : £8,00,000

(iii) Profit o, on sales : 20%

(iv) Net Credit purchases : %4,00,000

Take 360 days in @ year.

(6)

~P.T.0.
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12

(b) What is the meaning f XBRL? Explain main characteristics and advantages

of XBRL? (12)

OR

(b) Write short notes on any three of the following :
: -(i) Constituents of annual réport
(i) Contents of the report of board of directors
+ (ili) CSR reporting’
(iv) Segment reporting

V) Identification of related parties as per companies act and AS 18

(6+6+6)
1. (=) ﬁhaﬁﬁ%ﬁai#irféﬁéf?ﬁ'étéﬁxéﬁa‘aar%&n?!
() mﬁﬁwaﬂtﬁuﬂmﬁwﬁﬁm
()aaﬁwmsﬁtaﬁﬂml |
( )a&wﬁﬁmmﬁwsﬂtﬁuﬁaﬁm -@g (‘m-ﬁh | (3+3)

(@) BLtd?ruq%rﬁﬁﬁm%thﬁmwwﬂmm 10 TR R 1,00,000 TR
m&mmmmmmha |

aﬁwaﬂﬁw 22 %ﬁﬁma@a 6
AT Y W : 72 D NETT GRA 36 THAL TR A AR DA W

1,50,000 R & Ryw aﬁwm@ iﬁmﬁ S ICEEARCIRRIGRIN] W‘“i S
TR TR et dher =Y 200 R SRR R G A, T ST AR S R T T
¥ fww @)
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R, T 150 Sy @ oy e A .ﬁmoﬁq—a"ﬁ %8 W e & wf
T S R i i oy A | -
Yo AR BT e o P

' v_ el iz Ll e s e d)
Wwwmﬁaaﬁmwm S )

st
(W)WWG}MWW'M%W%W'WWW
%W%mmaﬁmm | = |
(i) 10 =R WY FR B 15,000 WW]OWWWWW
()maﬁ%wmiéoooo
| (m)mﬁ%mmﬁmmamm 8000
(iv) ﬂoﬁﬁra}gﬁaﬁﬁuﬁmﬁwwm%mﬁmq&ﬁwmg,.,
ﬁﬁaﬁwﬂﬁuﬁaﬁzo%mwwaﬂi?ﬁm'wwﬁm;
 (4+2)

() P e % S ST 1 I, 2022 B L iy oy kB

0 ﬁ%ﬂ{ o
0% 340.00,000
o1 Wee AR

' ¥34,00,000
70 Qe fAfe AT |
' ¥34,00,000
(8% wxeRIQ T 134,00,000 BV Wi )
R & A | AT
. %2,00,000

PT.O.
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T2

31 91 2023 @y =gor MU

- e A mﬁﬁm 34,00,000 @Ml YA & O A

T D Ry ey T o 1 SER, 2023 T HEN Y T FHRET
® T 298 g st W 100 AR T 500, 10% RAW @XR Ty RIW 31 7
2023 T sy g &) AT T IR TR R A FAH T 31 7t =

%uv?nﬁrasﬁaa 31 9, 20237:1%?117!6‘1??1000 %w%maﬁmalm
%unhwaﬁugnﬁégvm&m%ﬁw 2 e AR, 2 R

ﬁ%ﬁ%mﬁqaﬁﬁﬁﬂwml

() Freoe & @ @ i RRTE:

(12)

(i) TaRd & e @ e - 14 AR AR e @ Y e

1031 -

(ii) Wﬁﬁﬁﬁwﬁmﬁ?aﬁeﬁu@ﬁﬁml :(3-1-‘3)
(@) Fefolaa 31.03.2023’& et s SeiE e 2
L '&'%EDT@?%WTE ' e
1. SRR | | 4
RS | 1 | 24,00000
SRt ffey e—?R SRR ST GBuTeTD (7,00,000)
2w et e o ‘im) o % 50:000
3, ;T?qnméq
(AR |
IR 1,50,000 |-
SHR (¥ ST 1,00,000
T " 24,00,000




3842 l \ 15 ‘ )
1L STt | 3 14,00,000

1: 11 orRra 90,000

QT ST
80,000
S CTUER)

‘ f 420,000

Bkt : ~ . 3,60,000
@ﬁmm (Rfdy ey ' A 50,000
et T I () ‘ Y 24,00,000

A - -

=
1. ﬁq?liﬁﬁ |
- 32 Tl ' = | 16,00,000
| z10 Ufd & 2,00,000 FHCT TR (I8 DI 3MU) o
2100 Ufd & 8,000, 10% SMTYAF! YR 00,
| i 124,00,000
2. GPII® SUR:
12% f&dTR
| B d ' 1,30,000
3. 7a STRRIAT: SR S | 3,20,000
kR eyl | | 4,50,000
{47 3R | 4508w
8,00,000
6,00,000
f—-____‘143090§‘7

e < PR AT e R TR TR 2 e g
3. | B T SR SR
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’ | 7 m’%sﬂtgﬁaﬁﬁuﬁaﬁmzbuﬁfﬁm%w
() SRR T |
Bl

(ii) aﬁpmﬁghﬂgngﬁﬁmmmﬂﬁTSNﬁTaGmntmh?ﬁrém5té§ﬁmgggqaéh

(iii) 12% ¥R maﬂ%aﬁ&'ﬁqﬁﬂgﬁa%m 365 ooo{m%m%ﬁ%ﬂ?
'@Waﬂa%l .

(iv) R SR Y S 2o%ﬁmgﬁm

(v) ¥= W%Tﬁa figer ¥ de g FEm @ sqﬁmzvrﬁmm%l

( i) TI& 71,00,000 Wﬁwﬁt%aﬂmﬁhﬁaﬁuooooowmw
I B

(vii) Tafae m%ms%ﬁa%aﬁmmmmmm%l ’
(vm)mwaazw zzzoooom% 14%@%@%@%3@3&#11%&1

BRI O]

(ix )mﬁﬁﬁgﬁrwﬁwaﬁ%m@ﬁmm%mm&rm
waﬁﬂw(mﬁw)ﬁa%m%mlﬂsﬁaa%a@ﬁr%ﬁaﬁm )
Ky

maﬁmmuﬁmqﬁam%lyﬁﬁwm%ﬁmml
m | (12) -

4 e ﬁﬁ“ﬁfﬁﬁﬁﬁﬁﬁ%ma}mm
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(@) ffeRea 31-3- 94 aﬁéﬁmﬁiﬁégaﬁmﬁz%

S
gag - 2,00,000
% 100 U & 2,000 A A 20,000
T 3Rfe ARy .
5% f&dav 1,00,000
R AR . 180,000 -
g)_ﬂ e e eem
| 4,00,000
i |
o 35,000
oY S 85,000
U 3R A8 1,20,000
wre |
| §eR ‘ 35,000 -
| 95 A T
: - 65,000
o 40,000
4,00000

' SR Rl e 'mmg'wmﬁ 710 uﬁr%m ,000

Eﬁaﬁﬁihaﬂzﬁwa’&ﬂ&mw%mm%n

_mmﬁmﬁmﬁmmﬁwﬁ%{

(i) A% fafies & orR AR ¥ S R 3 3 ?20,000 mﬁa%
- i

(ﬁ)ﬁmﬁﬁ&%iﬂzﬁﬁmﬁ@%@ﬁmﬂép%m%_
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(iii) S fafrds T 31-3-2°
T 40,000 F F A T

 (iv) S fifRs A

Wmaﬂtgﬁaﬁmmﬁuﬂm

4
v

3 RF® 31-3-2022 Tt MD Ltd B FwE A P 7

st foifaes ¥ 25,000 i A S @ler an ot 25%
et <t O g1 A R @ WA @ @ R
. R s Rt @ 78 @

- T awET X T aHwET T .
e , 3072000 | 9w TR 30,00,000
U E 33,00,000 - | 12%BEFR 30,00,000

o », 3@‘\,15(' 1T 2,62,500
e ' 7,50,000 s :
&FER g70000 | fa . 3,70,000

2,50,000 .
ﬂgfa'ﬂ = | SO | 4,00.000
| T # & F 406500 | _ 41,50,000
| TR ¥ I | | 2,50,000
e ' 3,92,500 |
s i 3 om0 14- e e
SR =7 | 18,50,000 2001 TN I, 35.000
STl 50,000 T T ST
AT T 19,79,800
a | 68350
AT FHOT : 8.3
| fri 2,02,250
. 21,100
e 1,80,000
' ey ER 1,24,6
3 1,24,67,500 " - 1,24,67,500

J 78 30,000 mﬁaﬁaﬁﬂamwwm

o

(12)
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FRFT ey .

(a;) 31-3-2022 aﬁm
GIERERT 15% rawm S

() TRNE = X ¥ 25 00 T R ¥ el
(%) ﬁa’*“‘“m”ﬁ?ﬁ‘a}m%u
() WWH}WS%WWW'

19

¥9,50,000 9l

() 50% N R A IR w1 wrerr iRt

'I P
mﬁzgﬁﬁ%@ﬂrﬁﬁaﬁ%ﬁaﬁzﬁmm' )
NG
(F) 7A@ waE e Rk smr R F siqe e SR (6)
(@) Fefafeaa e Rt o 339 fie 2 _
e 31-03-20 31-02-2021
Rz q. 2 g
I
sl Sgare
1. R YRS [
() R Yail . 11,50,000
ORI S I .__11,50,000
(i) 9T SRI&d [iY 3,00,000 3,00,000
G e 80,000 1,15,000
(iii) Igc‘qgrgﬁfﬁ ~2,00,000 2,20,000
— —
o) JUR TR
| @%ReR) 450,000 | 330000 ]
—| () IR @) . 5,15,000 | 480000
| () S 2000
e W 65,000 60,000
e o 27,60,000 26,75,000
%Q — 2T

PTO.
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o fam P
i

e M 2,60,000 3.50,000

om 7,50,000 7,50,000

Gy oREa_— | 5,50,000 3.70,000
e | [ P

2 mqg:agt / i 4,10,000 - 5.30,000

& IR "@ﬁ(’)/—’— 335,000 2.15,000

((E))m W 4,50,000 2,50,000
R

= mﬂ@iﬁ%—’/ 5,000 10,000

’—/—/—d‘ -
26,75,000
4 27,6000 | |
P s W S0 2

()gﬁa‘a?«mﬁmm%aﬂmh%l

=& el 21,50,000 ¥ @& T AT 260,000 a‘»’tgw#‘tvm‘flaﬁ'a?r 320,000

%quwwaﬁam 30,000 4TI

(ii) mouf@ra‘?aooooo% a%ﬁam'@rgﬁw% z%uﬁra%at%zaﬁ'a

@ WA | A

(iii) %1,80,000 T (AT TE A W /A1 I

| AS-3 (VR B AR 319, 2021@%5@&%@-;@“%
e JaR A B | B

(12)

() 0 T R TR S R R R R T A | (6)
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(@) ﬁﬁ_maﬁmﬁmm—mﬂi’
o,OOO?zﬁaaim“

() < e 5 0 o T T
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12%, sfemmt T

OOOr
(ii) o TR EER: oo Wi & qofe: 760 o

(iii) swfee i sk aftr: 'u,so,ooo.
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